( SASANDU KIT - EXPLODE VIEW )

NO. DESCRIPTION aty
TWEETER GRILL 1
MIDRANGE GRILL 1
WOOFER GRILL 2
. A SASANDU CROSSOVER 1
B, SASANDU TX CROSSOVER
5 A SATORI TW29BN-B-8 1
B, SATORI TW29TXN-B-8
5 A 6.5IN SATORI MR16P-4 1
B, 6.5IN SATORI MW16TX-4
. A 7.5IN SATORI MW19P-8 )
B. 75IN SATORI MW19TX-8
8 |SEAL GASKET (FOR PEDESTAL, INSTALLED ON CABINET) | 2
9 NAME PLATE 1
10 INSERT NUT M4 (INSTALLED) 28
1 STAINLESS TERMINAL PLATE 1
12 WASHER PLATE (INSTALLED) 11
13 INSERT NUT M5 (INSTALLED) 11
14 SR-MSIH-5X30-BLK CR3+ 11
15 | WOOD SCREW 4 X 16 mm FOR CROSSOVER (FROMKIT | o
CROSSOVER)
16 | HEX SOCKET SCREW M4 X 20mm (FOR DRIVERS) 24
17 | COUNTERSUNK SCREW M4 X 20mm (FOR TERMINAL | ,
PLATE)
18 | PAPER TUBE D:75mm L:100mm (INSTALLED ON CABINET) | 1

19

PORT FLARE D:75mm (INSTALLED ON CABINET)

20

SEAL GASKET (FOR TERMINAL PLATE)

21

BINDING POST

DETAIL B
SCALE 1:4

DETAILA
SCALE1:3




DAMPING MATERIAL D
Dacron 90z White Color T20mm
T Size: 65 x 125 mm
e i\ 1/ (2 layers on black wall of midrange
- chamber (below the brace only))

DAMPING MATERIAL A

Dacron 90z White Color T20mm

Size: 430 x 125 x 430 x 185 mm

(2 layers covering the top brace behind tweeter)

DAMPING MATERIAL B

Dacron 90z White Color T20mm
Size : 485 x 125 x 485 x 190 mm
(1 layer on the partition (bottom
of midrange chamber))

DAMPING MATERIAL C

Dacron 90z White Color T20mm
Size: 445 x 185 x 485 x 75 mm

(1 layer on each side in the midrange
chamber (below the brace only))

DAMPING MATERIAL G

Dacron 90z White Color T20mm

Size: 485 x 125 x 485 x 190 mm

(2 layers in top of upper section woofer chamber
(lower layer may rest on the brace between the
side walls as shown))

DAMPING MATERIAL E

Dacron 90z White Color T20mm

Size: 330 x 125 mm

(2 layers on back wall in upper section
of woofer chamber)

DAMPING MATERIAL F

Dacron 90z White Color T20mm

Size: 220 x 125 x 220 x 160 mm

(1 layer on back half of upper brace in upper
section of woofer chamber)

DAMPING MATERIAL H

Dacron 90z White Color T20mm
Size: 240 x 225 x 220 x 280 mm

(1 layer on each side wall in front half
of upper section in woofer chamber)
DAMPING MATERIAL L

Dacron 9oz White Color T20mm

Size: 110 x 125 mm

(1 folded piece above port in the back)

DAMPING MATERIAL J

Dacron 90z White Color T20mm

Size: 445 x 210 x 445 x 210 mm

(1 layer on each side in center section
of woofer chamber)

DAMPING MATERIAL K

Dacron 9oz White Color T20mm

Size: 90 x 125 mm

(1 folded piece below port in the back)

SECTION A-A
SCALE1:8

DAMPING MATERIAL |

Dacron 9oz White Color T20mm
Size: 445 x 125 x 445 x 210 mm

(2 layers on entire lower brace in
woofer chamber (must stay in place))

=

.|PART NUMBER

DESCRIPTION

A DA-DACRON-(430x125x430x185)mm

DA-DACRON-(485x125x485x190)mm

DA-DACRON-(445x185x485x75)mm

DA-DACRON-(65x125)mm

DA-DACRON-(330x125)mm

DA-DACRON-(220x125x220x160)mm

DA-DACRON-(485x125x485x190)mm

DA-DACRON-(240x225x220x280)mm

oo |a|s w25

=
o

)
DA-DACRON-(445x125x445x190)mm
DA-DACRON-(445x210x445x210)mm

-

DA-DACRON-(90x125)mm

N

A—‘NNMM-\NNN_\NQ
=2

| X|—|—|Z|®MMOO|w

DA-DACRON-(110x125)mm

930.0
4858 |
-

D

A b

O
w W T L
—

1350.0

"DAMPING MATERIAL CUT PATTERN"




430.0

185.0

485.0

=
o

DESCRIPTION

QTY.

DA-DACRON-(430x125x430x185)mm (SASANDU A)

DA-DACRON-(485x125x485x190)mm (SASANDU B)

DA-DACRON-(445x185x485x75)mm (SASANDU C)

DA-DACRON-(65x125)mm (SASANDU D)

DA-DACRON-(330x125)mm (SASANDU E)

DA-DACRON-(220x125x220x160)mm (SASANDU F)

DA-DACRON-(485x125x485x190)mm (SASANDU G)

o (N |a|~w|[N |

DA-DACRON-(240x225x220x280)mm (SASANDU H)

©

DA-DACRON-(445x125x445x190)mm (SASANDU I)

o

DA-DACRON-(445x210x445x210)mm (SASANDU J)

-

DA-DACRON-(90x125)mm (SASANDU K)

-
N

DA-DACRON-(110x125)mm (SASANDU L)

L LI I I BN P T T N N

125.0 ‘

185.0

299

430

125.0

65.0

125.0

330.0

125.0

220.0

160.0




485.0

190.0
G)

2127

280.0

336

225.0

=z
o

DESCRIPTION

QTY,

DA-DACRON-(430x125x430x185)mm (SASANDU A)

DA-DACRON-(485x125x485x190)mm (SASANDU B)

DA-DACRON-(445x185x485x75)mm (SASANDU C)

DA-DACRON-(65x125)mm (SASANDU D)

DA-DACRON-(330x125)mm (SASANDU E)

DA-DACRON-(220x125x220x160)mm (SASANDU F)

DA-DACRON-(485x125x485x190)mm (SASANDU G)

DA-DACRON-(240x225x220x280)mm (SASANDU H)

Ol |N|lo|a|s|lw|Nd| =~

DA-DACRON-(445x125x445x190)mm (SASANDU )

o

DA-DACRON-(445x210x445x210)mm (SASANDU J)

—y

DA-DACRON-(90x125)mm (SASANDU K)

N

DA-DACRON-(110x125)mm (SASANDU L)

el Bl S A LSS LS N R E Y FOY PN NS

125.0 ‘

445.0

445.0

TV

125.0

90.0

125.0

110.0




1100.0

30.0

A~

NOTE:

- All dimensions are before painting except depth

- Depth dimensions after painting sould be same with drawing
- There is no defect on painting

- Paint thickness assumed 0.5 mm

30.0

SECTION A-A
SCALE1:8

550.0

160.0
230.0

®11.0-11

69.3
C—<
®7.0-6
D104.5— ‘ — $10.0-2
?92.0 — © -
P730— S = e
RN ; —6-¢7.0
1535 — 1
®142.0 — o
| RIS
—6-¢7.0 I
D187 —|
?176.0 — =
©165.0— |
I—6-07.0
D187 —|
G 176.0 — 5
©165.0— \
el
(2]
\ ) 8
|
o
| 8
|
T
C
70.0

30.0

46.0

18.0

18.0

18.0

SECTION C-C
SCALE1:8

R6.0

3.0

A,

DETAIL B
SCALE1:4

-

w &
s

)
57.4 \L obo

31.0

<
o)
[rel

DETAILD
SCALE1:4

924

75.1

339.7

2293

]

226.5

160.0







BOARD (A)

NOTE:

- All dimensions are before painting except depth

- Depth dimensions after painting sould be same with drawing
- There is no defect on painting

- Paint thickness assumed 0.5 mm

250 o
o
34

189.5

s\

160.8

214

2224 214

226.5

4

214

1914

R36.5 —

165.0

230.0

\

@104.

-@730
©920

S

@ 142.0
® 1535

@165.7
6-07.0

——\
\ ®176.0
»187.7
6-07.0

o 7
o D
Q2 %C‘
038.1
1075.0
90° 90° 90°
o 73
© 080
% % g
o l | | |
74 B By s s e e, U e o i
f f i i
SECTION E-E
SCALE 1:6
1075.0
122.0 146.1 249.9 213.6




BOARD

us.o 700 45d

1075.0
696.1
R6.0-8 ‘\
o L
= f \ .
o <| o
g B € U
2 K/
@70-4 81.0
55.0
0¥

iy > 4 T 7 1111/(\!

L3
3]

2.0

SECTION F-F
SCALE1:6

18.0

160.0
126.0

%660

——

I

|

|

|

|

T

|

|

|

I

I

&

]

1075.0

NOTE:

- All dimensions are before painting except depth

- Depth dimensions after painting sould be same with drawing
- There is no defect on painting

- Paint thickness assumed 0.5 mm




BOARD (C)& (D)

R25-4

AN\

LEFT BOARD SHOWN
RIGHT BOARD IS MIRRORED LEFT BOARD

[T} [Te) 7o) [Te) 7o) <
I S W % S ©
al 7 =z i~
SECTION A-A
SCALE 1:6
1075.0 | 58.3
70.5 338.8 226.7
fA_ : f
- _ _ _ _ _ _ _ _ _
X
<
D D 188.2 2211 226.7
\ \
\ \ \
B
58.3 | 1075.0
203
> o
> | <7,
&
Ny
DETAILB SECTION D-D

SCALE1:2 SCALE1:6

18.0

433.8
4717




160.0

¥

BOARD (E)

18.0

480.0 |
435.9 |
74240
S
3
o wl o
3 g |
39 - «
N )(@9 -
3
480.0

143.3

15.0

18.0

10.0

105.3

210.7

18.0

3.0




521.6
39.8, 480.0 1.8
o o ~
g 1 [ ¢ T B
192.0 !
19.0
] g
< o
T~ | e
ﬁ ] e
of ~ vl o
8 e e e — g g
ST + 234 -
=3
4
L -
& L |
N
?5.0-11
4376
521.6
-
| | | | m\/i
X 7 i 7 (A7)
[ [ [ [ w
SECTION A-A

202.0

BOARD (G)

ST

160.0
230.0

\J 44 5o
\

@11.0

®5.0

<
[N

15.0

AV

DETAIL "B"
SCALE1:2

BOARD (H)

124.7

194 109.4 L 1094 23.QT
™
S
@
S
o
=2
480.0
| 435.9 |
| 415.6 | g
Al Gl
|
% I [
% SECTION A-A
SCALE 1:5
w0 <
S ]
-~ ~

160.0
124.7

<

SECTION B-B
SCALE 1:5




BOARD (1)

550.0
85.3 109.4 109.4 109.4 109.4 27.1
© ~ 3 S
N [
P - - —®
g
I
~ vl o
3 © 8l 8
~ ~| N
]
by
e, -— I el
- _
M s
550.0
26.5 521.6 1.8
o
= 2185 °
[ F\
o1
= =
o
w
85.3 437.6 27.1
~ ’@’__ _ ’//@_ _—GF
e
I
o of ~ 2l o
S S B¢ > 8
N N ~ ~ o~
o
A L
—s e =
- \@-\ —

@11.0-11

NOTE:
- All dimensions are before painting except depth

- Depth dimensions after painting sould be same with drawing

- There is no defect on painting
- Paint thickness assumed 0.5 mm

15.0

|

230.0




BOARD (J)

250

SECTION EG-EG

/\“f\ ‘«é g@'l
Vel [T/ A1 ZAx X;*_

18.0
507.2 N
i BOARD (L)
&
& T8 .
iy
. ; S
©10.0
$ 3
S & =
T Y 2 X
SECTION B-B
(4617)
C
BOARD (K) w3 w0, s g BOARD (M)
(461.7)
352, 168.3 | 500 | 168.3 435
—2x $10.0
] T EG
Mﬁ | . [~ @
100 (71T Al 777773
SECTION C-C




BOARD (N)

(461.7)
35.2 168.3 50.0 168.3 435
///
I

il (B

3X®10.0

V)

SECTION A-A
SCALE1:3




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14

